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In an elementary particles there are — fundamental reactions.

4 _ B) 5
© 3 D) 2
SiguueL gsafld SigLiuenL edlenenaer 2 greran.
A 4 B) 5
© 3 (D) 2
Doppler broadening is proportional to , (T is the absolute temperature of the
source).
A T B) T°
@/ T @) T°
et eSlifley (T epawgdlen safl &1 QeutiuBlana) ellflgsHa siemwyb.
A T (B) T?
© T D) T°

A metal-semiconductor junction diode is called

W Schottky diode (B) Photo diode
(C) Tunnel diode (D) P-N Junction diode
@@ 2-Cans GansLs8 s68 L Cur® eraru(Hib. _
(A) sridl e Cun(® B) Cum CLre Cur®
(C) Lame @@L Cun( (D) P-Ns&pdl en_Cun(®

The TV camera tube is a device which converts the optical image into

(A) magnetic signal (B) mechanical signal
(C) acoustic signal W electrical signal
@ Qsreest’_§ smilyr Gwml eeaug) gafl Ybusas WOIHMID SHeNWITELD.
(A)  shHs memssaTTs B) PQuss wsmssans
©C) @& msmssas - (D) Ve ensenssarns
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A person donating blood should have a minimum haemoglobin level of
A 10g B) 115¢g

W 125¢ D) l4g

Ars5 srend QsiieugsnE e wallgafld Ganis ULsb Qmés Ceuang w afGum@germSer oerey
(A) 10 &lgmd _ (B) 11.5 &lgmo
©) 12.5 ymod D) 14 Aymd

Consider the statement :

Assertion (A) : The eukaryotic cells have four kinds of rRNA molecules namely
28 S rRNA, 18 S rRNA, 5.8 S rRNA and 5 S rRNA.

Reason (R) :  The 28 S rRNA, 5.8 S rRNA and 5 S rRNA occur in 60 S ribosomal
subunit while 18 S rRNA occurs in 40 S ribosomal subunit of 80 S
ribosomes of eukaryotes.

Choose the correct answer :

M Both (A) and (R) are individually correct and (R) is the correct eéxplanation of (A)
(B) Both (A) and (R) are individually correct but (R) is not a correct explanation of (A)
(C) . (A) is correct but (R) is false '

(D)  (A) is false but (R) is correct

Epsarand eursdlwunsmer seouefl

sanm (A) : wGesMCwm_iys Qedsar preang edlgwrar rRNA fpassmpsmer Qarar(Harang
imausar (penpGu 28 S rRNA, 18 S rRNA, 5.8 S rRNA wpmib 5 S rRNA
gsryewrd (R) : wCaNGum_ige o d@rer 80 S engGunCGsmbser 28 S rRNA, 5.8 S rRNA wpmid

5 S rRNA epadsamser 60 S engCunCGambsefien LigLuGgyw womd 18 S rRNA
40 S enpCGunCanibsefiear L@Ggub sreamiiu@&eang).

sflwrer uflanew CobEsHESaD :

(A) (A vpmo (R) @resr®mGw s Cogi (R) eramug (A) e @ sflwuner elearésid

B) A wombd (R) Qram@bd #fl, Gogud (R) erarug) (A) eln@ sflwuner eflengaioae

© (A #fl genmed (R) seumy

D) (A seum permed (R) s
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- 7. Subtropical Dry summer climate is otherwise known as

\/ Mechterranean climate

(B) China t} pe climate-
f (C) Taiga climate
(D) Tundra climate

2 U Sjwen eupert. CarenL Lmeu srablene @eucunmid SienwssiiubEng
A) wsHu sarssLD sTBlaa
(B)  ensam srablane

(C) eLamsrablae

(D) By srabiame

|
|
|
|
i
f

8. Thé diameter of the milky way galaxy is about light years.
W 10° light years
(B) 102 light years
(C) 108 light years
(D) 109 light years

ureGeuarfl cg,usml_gsélm L tb &wmir ot errH&eTTELw.
A)  10° gafl yerr(Haer
(B)  10° gafl gpemrBaer
(C) 108 qafl gy er(paer
D)  10° gefl yeam@Haer

9. The headquarter of the world meteorological centre is at
. (A) Tokyo (B) New york
M Geneva (D) Moscow
2 & aurafleney aymu’.:éﬂ @LWSEHE SO WS BeNLOBFIETET @)L LD
A) GCLradlGunr B) Hywris
(C) Qsgafeur - D) revCan
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10. “Southerly trades on crossing the equator are deflected to the right” is proposed by the
(A) Humbolt law
(B)  Buy Ballot’s law
Ferrel's law
(D) Newton’s law |
Qgan efwrurgs smHm YelwaL CemleL sLpsler cueg ypwrs allawds Cewdlng aaumg
galujerar el
(A) anbGural afld
(B)  au CGuanl e9lg)
(C) SLQuraen a9
D) AL areld

11. Bombay Jayashri is famous for
music (B) dance
(C) drama (D) writer

umbGu Qewus ergm@ Lawp Quppelr
(A) @Qeng (B) mLemd
(C) mrLsb (D) epsgmeri

12.  Point out the wrong statement
(A) Vivekananda started the Ramakrishna mission in 1896

(B) The mission has branches all over India
M The disciples of Ramakrishna simply accept the full programme of Brahma Samaj
(D)  The mission has set up number of schools, orphanages and dispensaries
SEUMMTET SaHEOM FL_Ig ST ()
(A) 1896 aCGeusnabBsT gLl (Heagen Wagemer <, FbEGSSTT
®) =250 @BHUT WPpeugb Seersdt 2 ereren
(C) @umrodlmegeanrflan SLiser Gpbw sormsder p HiLgagyb SWugCu gHms
Qe [ ereremt

(D) Qg earamhn udTaflaer, HamTang eNHFl s, LHSHIEU Warasamer FHUBHSS L eTearg)
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13.

14.

15.

The Romans trading with South India during the Sangam age built the temple of Auguétus at

@
®

Puhar

Arikamedu

% Muziris

D)

Uraiyur

sis stusdlad Qsaeflbdwuimede CrrmorellwiseEpLer (p&dlu aursss 2 peysmenb sl fne,

Camullena &L 1qwi B&TLD

4)
(B)
(©)
(D)

L&mm
2Ma&sCwi
PED

2 T

The ancient Kalinga is situated in which of the present state?

A

N 4
©
)

Bihar
Orissa
Bengal
Bhutan

L sregdld sadlnisb aaug sHGUTg abs LrhlosHe o ererg?

(A)
(B)
(©)
- D)

Sammi
eflevenr
GUMBIGTETLD

Ly L_IT&0T

Vellore mutiny took place in the year

(A)
(©)

(A)
©

1802 AD _ \,(Bf' 1806 AD
1808 AD (D) 1816 AD
Gaugynt sp&D penL CuHm 26 ;
£19 1802 (B) £91806 -
£19 1808 | (D) £91816
7 BCGS/19
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16.  Match the following :

Organisations Years
(a) British India Association 1 1883
(b) . India League 2. 1876
(¢) Indian Association 3. 1875
(d National Conference 4 1843
@ b © @
A 1 - 2 3 1
@7 4 3 2 1
C 2 1 4 3
D) 1 3 4 2
gflwrg QumBEEHS :

b ELSEA STy QU(HLLD
(a) Wfllyey @BHWE sRsD 1. 1883 .
b)  @bHu s & 875
(0 @ndwssnsn 3. 1875
(d) Csélw wrer@ 4., 1843
, e (b) (c) (d)

A 1 2 3 4
B) 4 3 2 1
c 2 1 4 3
D) 1 3 4 2
17. Choose the incorrect pair regarding the Tribal revolts

(A) The Ahom’s Revolt - 1828
(B) Khasi Rising - 1833

W Santhal Risings — 1840
(D) Kol Risings - 1831

EpsaaT Dmansg @ansEhhd MM wasaflar swshiamens sibsmel. QS g Fauprar

Gevent ereny GOLINGS. N

(A) SCaDTD&HET HOSLD - 1828
(B)  srnélerpsd) - 1833
(©) smpge erpas - 1840
D) Came erapss - 1831

BCGS/19 8 : B



18.

19.

20.

21.

If a car is moving at a speed of 100 km per hour. How much distance does it cover in one

second? i .
(A) 252m (B) 26.6m

y 27.8m 2 (D) 28.7m

@ st wenfléag 100 S Caussdler Qawdlng). m ellamquild 218 SL_&@W GITD cTemen?

(A) 25248 : (B) 26.648
(C) 2788 . (D) 28.748

What is next?
12+ 3, 236, 34 + 7, 45 20, ...

(A)  56+30 \/56+11

(C) 57%30 (D) 58+13
2I(NSG! eTemnen GU(HLD?
12+ 3, 23*6, 34 + 7, 45 = 20, ...

(A) 56+30 (B) 56+11
(C) 57+30 (D) 58+13

A balloon in the shape of a sphere has volume V and surface area S. If the balloon is blown
up so as to have a volume of 8 V without changing the spherical shape. What is the new

surface area? :
A) 88S a( 48
> (D) S

© 28

Gamer euigefleh 2 aer Lgen sar jate V, Qeueflym urliuerey S 2 e wg L@nemen GaTeT 6ulgeld

wrpmoed 8 V sean oiemeyéiE eaflanme gy euigelled Qeuafluym Liglivierey erebmen?

A 88 ®) 48
© 28 D) S

If x—l=4 then xa—i_3 is

X X
(A) 64 ' B) 170
© 172 \gpf 76
x-1=4 aaflé x° —%= ?
x X
(A) 64 ~®B) 70
Cc 72 ' - (D) 76

BCGS/19
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22. If + means x, — means +, x means + and + means — then the value of 6-9+8x3+20 1s

10 (B) 6

<cy -2 D) 12

+ aremugy x, — aTenug) +, X ereiiug) + WHMID + eTamug — erafled 6 -9 +8x 3+ 20 —ulem iy
A) 10 | B) 6
c -2 (D) 12

23. A pine apple costs Rs. 7 each. A watermelon costs Rs. 5 each, X spends Rs. 38 on these fruits.

The number of pineapples purchased is
(A) 2 (B) 3

y 4 (D) Data inadequate

SenemAuuD @euleuranmid eh. 7 pseyd, sTUysml qaCeurarmyb . 5 BGeyb o eraran.
X eremmuseui @uuprusafles op. 38 GeawellGEDTT erafldh, Bieui eumriidlu ieT@Té ILPRISET TEHSemen ?

Aa) 2 B) 3
(C) 4 (D)  eflugbd Curgoransde

24. Which of the following is/are true
(1) (~2,-7) i1s a point in IV quadrant
(2) (0, 3) is a point on X axis
(3) (-5, 2) lies to the left of Y axis
(4)  (5,2) and (-7, 2) are the points on the line parallel to Y axis

A 3,03 (3) only
© . @,03), 4@ D) (1), (2

Gleieu (meuareuHMIET aTgl/ eTeneu Qouiuime damhmi?

(1 (-2,-17) aaug IV srhu@dHows Geibg yarefl
(2) (0, 3) ererugy X on58lan Bgavomhs Larafl

3) (-5, 2) eretugl Y i&8HE QLUypb Siemwhs Larefl

@ (5,2) wppw (-7, 2) fuer Y 258H@E Qeammunear Cargeemobs Lieraflser

Aa) (2,3 B) @) wlEw
© (2,3, @ D) (1), ()
BCGS/19 10



26.

27.

If costs Rs. x each to make the first thousand copies of a compact disc and Rs. y to make

each subsequent copy. If z is greater than 1000, how much it will cost to make z copies of
the compact disc

(A) zx-zy _ (B) 1000x + yz
y 1000(x - y)+ yz (D) 1000(z —y)+ xz
em GnHss yen g 1000 Yrdlsdar swrfés gaibeunarm em. x eigwrsebd HHH Grdlser

paQeurarys@n @m. ¥ eigwrsab Cewaurndlng. z Rulrsdasl Auiisrame, z Grfsdr a@dss
ereucueTey @e@aun@ib? '

(A zx-zy - (B) 1000x + vz
(C) 1000(x —y)+yz (D) 1000(z —y)+xz

A fires 5 shots, to B’s 3 but A kills only once in 3 shots while B kills once in 2 shots. When B
has missed 27 times, A has killed

G 30birds (B) 60 birds

(C) 72 birds (D) 90 birds

B Wer galQaumm 3 suunsdls a@sasEed A 5 simea s@dori. e, A gaGeunm
3 sLmeuEE @M SLemal L Hib upameaimws taradprT wpmib B seg gaiGeunm 2 s(HaaiéEn
@@ sLaas wLHCWL upmeaumws Qasraodpri. B, 27 sLme sgaudlli@msen ulssda, A @ggmw
UDEneUSmETE &g (HESmmT

(A) 30 upeveuser (B) 60 upeneuser
(C) 72 upeveuser (D) 90 umeneuser

A can do a piece of work in 7 days of 9 hours each and B can do it in 6 days of 7 hours each.

9
How long will they take to do it, working together 8; hours a day?

(A) 4days (B) b5 days

3 days (D) 4} days
A, ¢m Cauamaenw 9 warfl Cryb Qaranm,. 7 Ceuema mrseaflgib, B 2iCs Caumeaemw 7 wenfl Criyd
Qarerr_ 6 Coume BT seaflQIbd (PY&&&HT[HID. SleuTadr Gmeumbd Carbgl e 'f_r;rr;.:mmés.@ 8§ wewfl
Cryb Ceuerer QaigNe, DeuCaumeentu (Pig &8 GTEUGUETEY STLD 6T (HLILITTEHET?
(A) 4 priser ' B) Hprisar
(©) 3 priser (D) 4y srisdr

11 . BCGS/19
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28. The inner circumference of a circular race track, 14 m wide, is 440 m. Find the radius of the

outer circle

(A) 85m ' \9/84111'

(C) 70m . (D) 80m

14 Slm ssowearw @m alLwra hutamsuia o6 spparey 440 BSlii @b, Qeuafl
UL LSSl HTEMNSE SIS
(A 858 (B) 848

- (C) 708 (D) 805

29. - If P% of P is 36. Then find P.

@A) 15 | @( 60

(C) 600 (D) 3600
P-en P% <yemg) 36 erafiev P o s
{A) 15 (B) 60

(O 600 , (D) 3600

30.  The least whole number which when subtracted from both the terms of the ratio 6 : 7 gives a

ratio less than 16 : 21 is

@) 2 Jn( 3
: D) 6

6 : 7 dlssHd Qm 2 pusselaflBhgIb sfisslLBD Qurs 16 : 21 dss8DE G@DauTaT Qb .

clldlssasd sk By (@ erar
@ 2 B ®) 3
© 4 D) 6

BCGS/19 ' 12 | B



31. Which .is the lowest ladder of the Panchayat Raj?

32.

33.

(A) Gram Samithi
(B) Nyay Panchayat

@’ Gram Sabha

(D)  Zilla Parishad

LIEHETLISS] TTED ammulﬂ]siﬂ &1 Hleney 61g)?
(A)  Agmo 554

(B)  pumw ugrsmuss!.

(C)  &ymo sevu

D)  Howruss

The women representation on the Pgncha‘yats is

(A 25% _ (B) 30%
©) 35% _ P 33%
2 aramr_8lg Caigelle QuansEpssTar QL @gss0 GFG&;LIQ_[
A 25% ; - (B) 30%

©)  35% o C Ly 38%

Which of the following part of the Constitution deals with the fundamental duties? |

\M IV A

B) XIVA
(C) IXA
D) XA

@irfé]u{susmmulﬁlsb sl LGS SligliLenL sLanser upb samélns)?

@a) IVA
B) XIVA
© IXA
O XA

13
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34. Match List I (Fundame.ntal Rights) with Last II Articles of Indian constitution :

ListI List IT
(a) Right to Equality ¥ Article 14 - 18
(b) Right to Freedom 2 Article 25
(¢) Right to Freedom of religion 3 Article 32
(d) Right to Constitutional Remedies 4 Article 19
(a) (b) () (d)
A 1 3 2 4
B 2 4 i 3
W 1 4 2 3
(D) 2 3 1 4
Qurmsgs :
ulguiey I i ulgwe II
(a) swsgeu 2 Menw 1. ell$l 14 - 18
(b) &sBAT 2 Meno 2. efd 25
() wsa&sBHT 2 MNenw 3. eflgl 32
@ erdueamnly 2 fawo 4. 94 19

() '(b) (c) (d)

@A 1 3 2 4
B) 2 4 : 3 3
© 1 4 2 3
D) 2 3 1 4

35.  The Chairman and the members of National Human Rights Commission are appointed by
the President and the recommendations of the Committee which consist of

members

(A) Five members S[{Six members

(C) Ten members (D) Eighteen members

Csflw wvally ofow yoausdear gmoem wLHMWL 2MUAETET GLWUIGS SOOAUTTE
Bludlssiu@n Ceuameruid Curr Qarerr @ Heuisamer Uflbgemr Qewiuyn?

A) g6 Gur - B) <mCun

©) usg Gumr D) uvdQenr @ Cur

BCGS/19 14 ; B



36.

37.

38.

(A)  Public Account Committee Shivaraman Committee

NABARD was established on the recommenciatiyof

(C) Narasimhan Committee (D) None of the above
‘Brurt® euimidl’ eThS & ;Jﬂ'ﬁ)gjemr;mrreb Qamewr(h eugliulLg?

A)  Qurg semsE G (B) &eugmwer G

(C)  mrélibwes G _ (D) Cupedug ggidldame

Who is the First Indian Economist to write the book about, “poverty of India?
(A) Y.S. Pondit -

B) J.5.Mill

(C) Adam Smith

3 @( Dadabhai Naoroji

“@hdwnellar eumientd” ey LSSES®S (ST (PGSOl adu @pdHu s QummeTnsy Byt

wimr?

(A) e ere. uaTg L
B) Gsm. ereiv. led

(C) L ibevds

(D) srgruml GAperGrme))

NDC refers to
(A) National Defence Council

" (B)' " National Derhographic Commission
M National Development Council

(D)  National Development Commission

NDC ereiug)

' (A)  Gsflw ungismiyé seu

B) Czdu wssar@sTens @
(C) GCsélw euariadl senLs '
(D) Caflw euammad G

15 ' BCGS/19
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39. In which year the Iron and Steel Industry was started in the pre-independence period in
India? ’

1905 (B) 1903
(C) 1904 : (D) 1902

&5b8168HDE e @bHwreiled erhs aumHLLD @ HLL HMID 6T +@ QsTfiDFrene LTbINssILCLg?
(4) 1905 - (B) 1903
(©) 1904 (D) . 1902

40. Which states are below than National level of HDI (2011 report of UNDP)

I Tamilnadu — 0.544
IL Kerala - 0.625
III. Karnataka - 0508 )

IV. Andhra Pradesh

0.485

(A) I,II and III
(B) IIlandIV

W v

(D) L II, III and IV

a5 wrHoriseaen HDI Siere|Gand Siereysafiey QiHu (wsHw iemay) siaTeyGamene fl (2011)
GODEUNE 2_GTarTE).

L 5066 - 0544
II. Cayerm - 0.625
III.  &fpr_sb — 0508
CIV. epdlor GrCsen - 0.485

A L II wpgyw I wl @b
B) I womw IV wGn
© Nwpo

- (D) L IIL II wpmnd IV wl_Hid

BCGS/19 ' 16 B



41. The team that lifted the Vijay Hazare Trophy in 2017 is
(A) West Bengal
' Tamilnadu
(C)  Maharashtra
(D) Karnataka

2017-e eflggus amsrGr GCamienuemw Geusnm wmbleowd
(A) | GomE eurisTerid

B  sOPETH

(C)  wsryregygT

D) sipTLET

42, The country that has joined Feb. 2017, as the 7*" member in the South Asia Sub regional
Economic Cooperation Program, is

(A) Manila
(B) - Maldives
Myanmar
(D) India |
“QshE S glenawt sam_risaid Qurmenrsny esgieplL Gwaile” Wigeufl 2017-0 GQmeanbhs
pmeug B 61g)?
(A)  waflen
B) wvrossey
(C) Bwmenrom
@ @pgun

43. The.2018 National Immunisation Day is celebrated on

M 28 January : : (B) 29 January
(C) 30 dJanuary D) 31 January.

2018-& Cgélw sHLILS Hanbd eremm igFfssliLL§I7?
(A 28 gemeurd (B) 29 manaufl
(C©) 30 gmameurl (D) 31 gemeu

B _ .17 BCGS/19
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44.  The 2017 Shanghai Cooperation Organisation summit meeting was held at
(A) Beljing
(B) Vientiane
(C) Islamabad

\V Astana

2017 egriusmi @&gepliy Sienwliy wrpr® amiE peLdubmg)?
A Quuglm

(B)  eSwemgwimen

(C) @everouns

D)  yevmanm

45, Yash Chopra Memorial Award 2018 is awarded to
(A) Lata Mangeshkar

M Asha Bhosle

(C)  Shah Rukh Khan
(DY Rekha

wev Gemugm Hlenaney ellmg), 2018 @e wrmEE eupRsIULL g)?
(A)  «smoaGseysit

B)  <=yager CuregCe

©)  egnmésTen

(D) Crésr

46. Which city has been named as the World Book Capital for 2019 by UNESCO?
(A)  Athens " Sharjah
(C) Bangkok (D) Montreal

2019 b Y @TEDHETEN 208 L|§58 SBETL aTen wdarevGareurd iMlellgs Bayb erg?
A)  gQgenav | (B) agymigm | '

© UMRI&TE (D)  wremgfwed

BCGS/19 18



47.  India’s first full time Women Defence Minister, who took the charges on September 2017 is
\M Ms. Nirmala Sitharaman '
(B) Ms. Indira Gandhi
(C) - Ms. Menaka Gandhi
(D)  Ms. Sushma Swaraj

Qe buir 20176 ugel gpm @bHwrelan s wWCHhY uTgsTIL LHAM Beul 6.
(A)  Hiweor Esmymoen

B)  @pdyr &S

(C) CGuanar srhd

(D)  segoT seuTTH

48. Who is the new State Bank of India (SBI) Chairman appointed in Oct 2017?
MMr. Rajnish Kumar
(B) Mrs. Arundhati Bhattacharya
(C)  Mr. Pratip Chaudhuri
(D) Mr. TCA Ranganathan

<&5CLmur 20176 Alwdldstiul L uryg eukluden Gearoer wiri?
A) S rgeflely @it

B) Hmwd. smHsd Ll LrFeriun

©) . Gyl Qeangi

D) S TCA rrusprgen

49. The first women President of Singapore selected in Sep 2017 is
W Ms. Halimah Yacob (B) Ms. Jean Y"ip
‘(C) Ms. Irene Ang - (D) Ms. Olivia Lum

Amsuyfer g Guear gamdudung Qelbur 201760 CasrhsBssiul s

<peuT :
A  ablelwr wrsl ' (B)  ghew vl
©) <wen ens (D)  galleSlwm ey
B 19 BCGS/19
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50.  Which of the following pair of elements different from the other?
Li-Mg (B) Na-K
(C) Ca-Mg (D) B-Al

Sp&aremibd @) enemr g,@ﬂmr&&aﬂ@ wIMULL @aen SaTok&ET ereneu?

(A) Li-Mg (B) Na-K
(C) Ca-Mg (D) B-Al
51. The reaction in wi;aich picric acid is formed from chlorobenzene is called as
(A)  Acylation \M Nitration-
(C)  Sulphonation ,_ (D) Halogenation
GCamCrrluenfafledmbg 96fé dleb swmriéeEhn eflenanen SiP&sLLHEDS
(IA) SiengGeHmid (B) ém,mlj_(ﬁqrrrsj,rbgmb
(C)  #CGunGeahmid - (D) anregCarnmbd
52. The electromagnetic radiation are used in MRI instrument is
(A) X-rays (B) - microwaves

W radiowaves ' (D) infra-red rays
MRI gmelilsafler LwenuBSsLLHWD WeTETHS 2eneseT
(A)  X-sdiser B) m&T @s6T

(©)  CrgCur yemeser (D) =88 Haulsy sfliser

53. The important heat-trapping gas in the atmosphere is

(A)  oxygen (B) nitrogen

(© ammonia ' \‘y carbon dioxide
auaflne_wsdler deuliugens Hlene HmisgIb (P& aumy

(A)  oy&edismen (B) enplygen

(C)  <wCoreflur (D) arrueT-eL-gdma(

BCGS/19 : 20



54. What is taking place actually during an ammonification?

\M proteins are broken into ammonium ions
(B) urea alone changed into ammonia
(C) ammonium ions are return to atmosphere

(D) ammonium ions are denatured

GHuuTs SibGuralbCsayer perAumnib Gung erenar Hsipeyser penL_ QUmdems)?

A)  yrab bCorailur weflwrs 2 L dng
B)  whwur swCoreflureurs wrmydems

(O  wCuoreflur waliggsdse T L O 1 Q&éﬁ@mg}j

(D) SnbCorefur Siwenser Qawealsfmg

55. Pick out the mismatch of the followings

"(A). SARS '~ Lungs
(B) AIDS —~  Immunity
(C) ELISA —  Treatment
MALT . -  Oncogenes

&Q&s&wr;euﬁ)gﬁlab SEUMTE @mm‘rmw SanrL_H&

(A) - SARS ~-  meondye

(B) AIDS - . Gpri erfliiiny ab4)
© ELISA - @&tu@sssd
(D) . MALT - ydmGrri glenser

56. . Which ratio is constant for DNA?

W@ A+G/T+C (B)

(C) A+C/U+G D)

Geumdlev erg Lq.,crs'm.c} afled &Gﬁ@rr Bleneowimen ellsLd
A) A+G/T+C (B)
(C) A+C/U+G (D)

A+T/G+C
A+U/C+G

AFTIG+C
A+UIC+ G
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57. Find out the wrong statement

(A)  The phloem in gymnosperms lacks companion cells

(B) - Pollination is one mophilous in gymnosperms .
The ovules are protected by the carpels in gymnosperms

(D)  Vessels are usually absent from the xylem of gymnosperms

Ep&sam_ &mHs5666d seunmaras &Lliyé sramdlésseyd

(A) dwCarmavuibgefles  srewrlL@L yGemmwuid  spenpsafiey  Cgmpennd  Qawser
sramrUiL(Heudldvene

(B) AbCeammevuibseller warhs Cardans arpm epalons BL&SHang

(C)  guCeamavubsaiern Geaosar STTLIGSETTE) UG &T&EsLIL L@Gﬁm@

D)  e@sab sponsailen turgears Heusasd gCammeavurbaafle sramiu@eoudoame

58. Consider the statement :

Assertion (A) : Omega-3 fatty acids reduce the LDL cholesterol which may thus.reduce
risk if coronary heart disease.

Reason (R) :  People with problems of blood circulation such as varicose veins benefit
from consumption of omega-3 fatty acids since they stimulate blood
circulation and help to breakdown fibrin (clot)

Choose the correct answer :

(A)  Both (A) and (R) are individually true but (R) is not a correct explanation of (A)

Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(C)  (A)is true but (R) is false '
(D) (A)is false but (R) is true

ED&EHTaELD aUsE Wkigsenar seuei

gamm (A) . @Cwosr-3 daeruy LDL Qsmedlgree Gonss @msu Chri eumeums
' . GDNESS Snlq Uig).
emeard (R) Qs @lLsdd @opur@-CauflGsrev pramd oder walsisdr @GwsT-3
Qempueou el dstarimd @Qrés @ULsms SuBsS, @rss slgsmen
2 ML &ELW.

sflwrer udlene CoMH0EsHESWD :

A) (A wpmb R) Gren@Gw sf Cogib (R) ararug (A) el sfwuner efaréswee
B) A oy (R) @rar@Cu &fl, Cogd (R) eremug) (A) e9bh@ sflwrer ederésnd
©) A sfl gyerred (R) seum

D) (A) poup gyemned (R)
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Match the following and choose the correct answer.

Railway zones Date of formation
(a) North eastern zone 1 5-11-1951
(b) Eastern zone g 15-01-1958
(c) Western zone : 3. 01-08-1955
(d) North eastern frontier 4 14-04-1952
(a) (b) (c) (d)
J 4 3 1 2
B) 3 2 4 1
(C) 2 1 3 4
D) 1 2 4 3
Epsaam_cupan dumrmss, sflurear uflae Caip0sHés.
@rulevGeu ewTL_cvmISET o (meurssliul L Caé
(a) euLdlpsiE wewr_sid 1. 5-11-1951
(b)) s LT 2. - 15-01-1958
(c) Cuwne werr_eb 3. 01-08-1955
(d) euLdlpse ererene warreww 4. 14-04-1952

() (b) (©) (d)

A) 4 3 1 2
B) 3 2 4 1
© 2 1 3 4
D 1 2 4 3

The region which consists of about 90% iron ore reserves of India is
(A) + Ranchi
(B) Sambhalpur

M Cuttack-

(D) Purulia

@pdu @mby srg @mUde swrr 90 sseissmss deramBidrer LGS
@A)  grgd |
(B)  sbudym

©) slLrs

D) ymedwr
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61. From whom did the English obtain the lease of Madras in 1639
(A)  The ruler of Golcunda
(B)  The ruler of Carnatic
(C)  The ruler of Mysore
W The ruler of Chandragiri

AL g65 oips 1639-6 Qeeanarenws @sgsmad@ wrflulmbg GLHDE
(A)  Csresamrm .gi'_&wfr

(B) e&ipr_s ons

(C) MO @GT 2p ST

(D)  spsrdlfl yem

62. Who condemned the Muslim social system Piri and Muridi through his magazine Tahdhib-ul
Aklaq?

(A) Mauli Chirag Ali
\ﬂ’ Sir Syed Ahamed Khan
(C)  Abul Kalam Azad
(D)  Mirza Ghulam Ahamed
566810-2.0 SsE @b gl sepdlaaudan gpa WA wHYD AR eraud vl sapa perpews
S lg.SSHEUI WIMT? :
(A)  Quarel-Hymrs =ed
(B) o1 mews siswgIETEN
(C)  @gie Gemb enTs

D)  Slrewr Geomd c";a{a;mg;]

63. Where did the Sepoys break out in open revolt on May, 10t I1857?

(A) Dum Dum : (B) Barrackpore
‘ \(y Meerut _ (D) Kanpur

Auumi soan 10-05-1857-6 6@ Geuy 55517

(A) vLbuLbd (B) umyayir

©) Sy (D) sweny
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64.

65.

Consider the following statements:

I :  The nationalist movement and Hindu-Muslim unity took giant steps forward
after World War I
II. . The entire country resounded to the cry of “Hindu-Muslims Ki Jai”.

" (A) I only is correct

(B) IT only is correct

\V I and II are correct

I and II are wrong

Ep&aaL eursdwnisman seueléseL :

I : s 2 @s GuUTHE®G ﬂmmﬁ.@gg—@mcﬁ]m enhmewub Casflu CumyTLRkisEhb
CUEIGUENL_[H 60T _

I “Qbg-wavdfihe Agu” eem WWsshsErsE Hrh W Weugib G eruuiLL L.
A) Tl @oef ' |

B) Lo @i

©) IwpmbIl s

D) Iwpmoll sag

Which Hindu National leader supported and led the Khilafat movement?
(A) Sardar Vallabhbhai P_atel
(B) Rajendra prasad
Mahatma Gandhi
(D) Jawaharlal Nehru

ahs Qg Calwus sewaveui Hous QuEssHnE 2%sTe| AaTSECHTH BMms Sevavain Simidleri?

(A  etsmT eudeumi LGL &

. (B)  grCypdr Grens

(©) wsrswr sTHS

(D) sauamieomed Gm(m

25 ; . BCGS/19
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66. Consider the following statements :

Assertion (A) : The Ghadar party was determined to wage war against the British in
India.

Reason (R) . There was a political activity in Maharashtra

Choose the correct answer from the options given below :

(A) Both (A) and (R) are true and (R) explains (A)

\M Both (A) and (R) are true but (R) does not.explain (A)
(C)  (A)is true but (R) 1s false
(D)  (A) is false but (R) is true

Spsaramib aursdwrisemen seuef :
sapm (A) D @pdureiie oymiflCeoweny erdlidg Cumfli esgggrrr'r &8 SroraNssg)
smyentd (R)  WwaMTeigy rHSd Dirflwed Cewd Bmbog!

A (A mrjﬁgfa (R) @remr(pw &M Cogib (R) eremugy (A) i@ sflwnen eflenésid

(B) (A) wpmid (R) @ryéﬁm@m &f:f] Cuagib (R) erarugy (A) eflp@ sflwuner efleréside
(C) (A) &l gypemrev (R) seumy

D)  (A) seuy syerméd (R) &

67.  Consider the following statements and choose the correct code
L. Rabindranath Tagore stood for a national scheme of education
I1. In 1901, a school was established at Shanti Niketan

Choose the correct answer from the options given below
(A) 1is correct II is wrong (B) IIiscorrectIis wrong
W I and II are correct (D) both I and II are wrong

Epsaam smpnssmen seualsg sflwner @S ig.ener er(ps)
L. TSBENETS sraaT Caslw sdell HiL_samg psMEeTT -

I1. 1901-e e g HCsgafler om usateflenws HlmeSlermit

Qaupmdr .
A)  1aM Il seum B) 11 &M I seumy
(C) Twpmgo IT @raw@Hd e (D) Twpmybd II @rerHid seum
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68.

69.

70.

T1.

The HCF of 924, 105 and 525 is

21 ' (B) 84
(C) 105 _ D) 25
924, 105, 525-@ér 5.Qur.eu
A 21 (B) 84
© 105 D) 25

Find the least number which when divided By 5, 6, T and 8 leaves a remainder 3 but when

divided by 9 leaves no remainder
(A) 848 (B) 843
1683 : (D) 1688

5, 6, 7 Hmib 8 eramsenmed eu@dsILBL QUMW) 3 B Lﬁﬁuna;euw 9 9 auEGSSLLHL Qurpg B

@eemog)id 2_arer BESHlW eranTenants &rawTs

(A) 848 : (B) 843

(C) 1683 (D) 1688
Least common multiple of a*, a**?, a**® where ke N is
(A) afa . (B) ak+15
(C) a3k+8 | w ak+5
a*, a**?, a**®, ke N gfweaipden Bs8ly Qurg kg og?
(A) ak (B) G-k+15
(C) a3k+8 . ' (D) ak+5

Fill in the blanks : 1, 1, 4, 13, 40, 121, __

J€ 61 (B) 382

(C) 256 D) 312

Camgl L @ ses Hlguiys: 1, 1, 4, 13, 40, 121, __
(A) 364 ' (B) 382
(C) 256 j (D) 312

27
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7 3 1
72. Which is the largest number in g 25 -1—01—0 i
17 18 19 21 23
15 15
A — B o=
A) = (B) =

. 15 ‘ 15
© 5 V =

15 ' 15
A — By ==
(A) o1 (B) 5
15 15
C — oy =
© 23 D) 7
73. Find the remainder when 4x® - 5x +6x -2 is divided by x -1
@ 4 | ® 0

© 2 | N g

4x® —=5x% +6x—2 —aw (x —1) e uEsEGL Gurg oL s@Lh B sre
A 4 B o
€ 2 D)y 3

74. Find the value of

B 512 +3/343
5 3
(A) 3 (B) &
) 2
© - o 2
s 5

V729 J_ uller &Ly smesor

3512 + ¥/343 &

5 '3
(A) 3 (B) e
y B 2
© 5 (D) 5
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75.

76.

A wheel makes 1000 revolutions in covering a distance of 88 km. Find the radius of the
wheel )

(A) 13m (B) 12m

(C) 11m \V 14 m

88 4.8 Qgrenewey Deweusn@ @b s&arb 1000 snnésd a(Hs560aTaang. FssaT5Ham 2pTd
STERTS.

(A) 1348 (B 128

© 1nws : (D) 148

A man invésted % of his ca.pital at 7%, i at 8% and the remainder at 10%. If his annﬁal
income is Rs. 561, the capital is

(A) Rs. 5,400 . (B) Rs. 6,000
W Rs. 6600 (D) Rs. 7,200

@@ wallgen sang) epagansdle % ukiens 7% eul g aI55HQID i umiens 8% aigsdlib,; Bgapdrarensg
10% &igsSlayb psed[H QaufnmT. Sieurg) el eu@mTerd . 561 erafle) Bieurg) epageid

A) @ 5,400 | B)- 5. 6,000

(C) e 6,600 D) e 7,200

The height and area of the trapezium are 12 cm and 102 cm? respectively. If one of the
parallel side is 8 cm then the other parallel side is

(A) 8cm - g M 9 cm

©€) T7cm (D) 6cm

e sNeussder 2 wirb wHmd LTty wenGw 12 cm wHmb 102 cm? eips slaussdar m @enanrr
usssHen Berd 8 cm erafled WHADTH Qenart L&ssH e Bard -

(A) 8cm (B) 9cm

(C) 7 em (D) 6cm

29 | - BCGS/19
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78. At what rate percent of compound interest per annum will Rs. 640 amount to Rs. 774.40 in
2 years, when interest is being compounded annually?

A  11.5% ' B) 12%

©) 8% 7 10%

(. 640 sisnang 2 (sl s sl (B culy Nfssd op. 774.40 & wWTMHID airu_@sm_tq.
A UBLESDEG @O POD saSAL LGS

A) 11.5% B) 12%
) 8% (D) 10%
79. If the diagonal of a rectangle is 17 cm long and the perimeter of the rectangle is 46 cm, then

the area of the rectangle is

(D) 289 cm?

@m Qscuaussdar apoaeilLsdear etey 17 G585 Yysa|b g sHmerey 46 Qs ysab
Qmuben, Sigen LUTlILETa Temen? :

(A) 120 cm?
(B) 152 cm?
(C) 112cm?
(D) 289 cm?

80. Who is regarded on the “Father of All India Services”?
(A) Lord Macaulay
(B) Lord Cornwallis
(C) B.R. Ambedkar

y Sardar Patel

<feo @rdw ueaflsaflen sHens erans smsLILIHUEGT
(A) QuwéerGea Gy

B)  smyen eumella Gy

(C)  B.R. aibCugsani

(D)  srgmruGLe
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81.

83.

Which of the following Constitutional Amendment states that the appointment of the same
person as a governor for two or more states?

(/ 7th Constitutional Amendment
(B) 12th Constitutional Amendment

- (C) 42 Constitutional Amendment .

(D) 56t Constitutional Amendment

@Cr pur Qrar® oz ASHE Copul L wrblomseld sl <y EEEITs HullssiuLmd e
Spananb ahg 8L SEMSSD sandlng?

W) 7o sl sHoppi

(B) 12 augy 5L 5 (mE5D

(©C) 42 ug sl L g8 mSsD

(D) 56 cug s L5S(mESWD

Which of the following Constitutional Amendment provided Delhi a special status?
(A) 4274 Amendment
(B) 54th Amendment

y 69th Amendment

(D) 74t Amendment

Epsaramb ahs sLL HHSHD 4odléE Hpuy Sibsevg) upndumss snsng?
A) 42 aug st HmESID

B) 54 cug oL pH@EBD

(C) 69 eug sl LHm&sD

D) 74 g sl sslmssd

The Kapu Reservation Bill, 2017 is related to the state of

(A) Odisha (B) Bihar
(C) Gujarat M Andhra Pradesh
&M @&&6&0 6L Lb-20176 erhg wrflasCsm( GamyemLwig?
(A)  @uer B) Jdsni
© egs (D) <pdy GrGsswd
31 BCGS/19
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84.  In which year the constituent assembly elected its permanent Chairman?
(A 1945 (B) 1947

1946 (D) 1950

@ sirHluaenoiiy e gmuuier Blrbsy smaoeu ahs an® CaibosBsasuuLLTT?
(A) 1945 (B) 1947
(C) 1946 (D) 1950

85.  Which of the following cases deals with the Fundamental Duties?
(A)  Kesavanandha Bharathi Case M Ramsharan Case
(C)  Golaknath Case (D) Minerva Mills Case

Spsaacuphle SiglueL sLawsGam® QT iy aupsa
(A)  Csseurenpsg LTS &S (B) grnbgrer U@
(C) Caronsmrs eupsa (D)  Barieur e cupsE

86.  Untouchability has been abolished by the constitution of India under

(A)  Article 14 (B) Article 15

(C)  Article 16 W Article 17
@pHw Srflueenoliyd sl vy S raweaw uilsEn s L9fey
(A) o914 (B) 69415

©) 816 - D) 917

87.  As per the Budget estimate 2011 — 12 the over all Public Debt. of the Government of India

was

“(A)  Rs. 31,10,618 Crores JRS. 32,81,465 Crores

(C) Rs. 30,11,548 Crores (D) Rs. 3i,19,460 Crores

2011-120 pe@rqen cugey - Gewey HlLsdar Ly Q@prHu psmrassHar U B Qurss sLen
Qgrenswmeang).

(A)  .31,10,618 Gamg . (B)  m. 32,81,465 Camyg

(©) @ 30,11.548 Camg (D) @ 31,19,460 Gamy
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88.

Match List I with List IT :

(a)

(b)

(c)

()

(a
A
(B) 4

(©)
(D)

List I

Councils

National Planning Council

National Development Council

Research Programe Committee

Planning Commission of India

) (b) (© (d)

2
2

e L I ]
LW = N =
O N L)

ulgwed I g ulquwed IT 2 e Qurpsgys :

(@) -

(b)
(c)

(d)

()
(B)
(©
(D)

ulgwe I

LDEATM BI&ET

Casflw S wermid
Czflw euarasl wemmd

ey HLLEGW

Qrdw AL &G W

(a) (by (c) (d)

PO M R B
- W e
TS

33

List II

Members

Prime Minister, Chief Ministers and
Central Ministers

Scientist, Engineers, Economist and other
Experts

Prime Minister, Chief Ministers and
Economist

Leading Economist and Research Scientist

uligwe IT
2 mu9eriser

Yrsw wpdf, wasa whdflaer LHHD WSS

whE Meer

sifleflwe  rmusflumeriger, Gummefluwiey
2iflepraer, muy GrdHdser
Yggw  wRHMA,  psd wvpHiladar  wLHHID

Qurmeflwe Blujemriger .
Qummaflwe Blyewriser, SiflefNwed
D IeUTETT&ET
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89.  Which year MTNL was set up by the Government of India?
&) 1985 \9/ 1986

(C) 1987 (D) 1988
Qrdw sipFrmEssTe erhs e MTNL Sipeuiul Lg?
(A) 1985 (B) 1986
(C) 1987 (D) 1988
90. ‘Mission XI Million’ programme is related to
W Foot ball
(B) Tennis

(C) Space travel
(D)  Power supply

“Weager XI Blaadlwer” HL b ergCanr(h QsmfyenLwig?
(A)  sroubs

(B) Qrenaflen

(C)  aderQeueaf LiwewTD

(D) e @ememriiy

91. The advanced Surface to Air Missile system (SAM), defence deal was signed between India

% Israel

(B)  South Korea
(C) Bangladesh
(D) Syria
Cubul L gearuiadmbg euralld gauliu@®b geysemeant SwrillysE QbHw erhg Bl (HL6T @UUBSLD
Qewgierarg?
(A)  @evGrev
B) QAger Qsmflwm
(C)  urmsemCsay
D) Aafwr
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92. The first State in India to switch over to Jan — Dec Financial Year format is

(A) Bihar (B) Maharashtra
(C) Karnataka y Madhya Pradesh
speneulfl - wsbur BHunar® Weaps@ wrdler pged wrblen 6rg?
' A)  Sewni (B) Lnaarrr)'rreisqu.Uﬁ
(C) sipTLGT (D) wsdw GrCsebd

93.  Who succeeded G. Kalyanakrishnan as the Chief Executive of Nuclear Fuel Complex?

Dinesh Srivastava

(B) Kiran Kumar A.S.

(C) Sivan K

(D) Radhakrishnan K

Sie&am arflQurmar auatmagdlen psarann Qewe sfsrlluns G. sowrewmdlmeayammen eTamLcHEES

W@ Hluwdlsstul el wirr?

A)  HCaneiy HAfleusvgeum

(B) dlpam@ort A.S.

C) &daaK

(D)  grgnflmegewres K

94. Who was sworn in as Chief Minister of Manipur on March 15, 20177

[ w Nongthombam Biren Singh
(B) Raj Kumar Ranbir Singh
(C) Okram Ibobi Singh
(D) Raj Kumar Jaichandra Singh

waexflliy T wrhlosdear wee whdflwns wrié 15, 2017 @ ugeGupmeur wri?
(A) Cprmgrbub enuiye Sk

B . Urra@mr'rr'r Feni ST £k

©) gsro@Cumd Ak

D) LT QRusbEy
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95. The mountaineer to Scale Mount Everest twice within five days in May-2017.
(A)  Anuradha Devi Thokchom
(B) Chekrovolu Swuro

M Anshu Jamsenpa

(D)  Gohela Boro

Cw 2017 & mig prsaflée @mupen erau@ravl_ wene 2 &8 gler wea ML eﬁqrr.réj&;smmr wimr?
(A)  sigrren Csell CansGambd

B) QesCrmGeurgy seyCym

(C)  oenna mmb@gaL

(D) GCasrdlaor GurGom

96. Swachch Bharat Abhiyan (Clean India Campaign) is to accomplish the vision by the year.
(A) 2017 (B) 2018

M 2019 | D) 2020

seué LMYS Swren (sggwrer @pSwr Wrsmyd) ser GHlECanaman aphs pamgdEer HlepGouhpLs

Curélmg? _
(A) 2017 (B) 2018
(C) 2019 (D) 2020

97.  The 14t Pravasi Bhartiya Divas was hosted by
A) Chennai

\M- Bengaluru

(C) Mumbai
(D)  Delhi

udlenrensreug) Gyeund urisSuw Heus BLFHw BSTD 675)?

(A) Qeeenan
B) Qurusesm
(C)  pumd
(D) Greed
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98. As per the 3 list announced on June 2017, how many cities in Tamilnadu are to be
upgraded as smart city under PM’s Smart City Mission?

A .3 ®B) 5

@/4- D) 2

soem 2017 & QeuefuSriu L Gggw whfuflar ‘G fily” HiL sdar & epammmbd Ll igwiela
SUOIDBTL_1q.60 GTHBDET BHTRSET eoomT AL iqwrs GobuBEsliuL 2 drarg)?

A 3 . - (B) 5

) 4 J : D) 2

99. Who among the folleing is a recipient of Dan David Prize — 2017?

(A)  Amitav Ghosh
(B) Leonard Kleinrock

*(C) James Hansen

M Shrinivas Kulkarni
2017 Lmein GLafl Lflens QupiLeu wmi?
A  fsseu Cames
B)  Owenrri(h) Hevereryms
(C)  Csyav anmerges
(D) Afafleurav Gasied

100. Which one of the following is not a federal feature?
(A)  Dual government
(B) - Division of powers
(C) Rigid constitution
\ﬂ( Single citizenship
Spaanr_cupmle ergl gl Lm SHufer Guid oien?
A) @Qrlien spemiisDd .
B) fsrgl GfeSenen
€) Opdipr sirdumeniy
D)  ehons Gguyfaw
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